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Winning 100-metre men's Olympic time from 1896 to 2008
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he model

A simple linear regression model predicts the output as a linear function of the input

feature x: A
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We refer to wg and w; as the parameters of the model.
To choose wqg and wj, we are given a data set of previous input-output measurements:

{@D,yM), @@, y@),... (@), ™)}

| will sometimes just write this as:
N
{(x(”), y(n))}n:l

How do we choose wg and w; based on the data? We need some way to measure the
“goodness” or “badness” of the parameters, given the data.
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Model fit
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Model predictions

e Estimated winning time in 1914: 10.901 s
e Estimated winning time in 2012: 9.595 s (actual time: 9.63 s)

e Estimated winning time in 2592: 1.863 s



